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1. Introduction:

 The receiver is allowed to change the transmitter window using SUFI WINDOW. This could cause inconsistencies at the transmitter.

2. Problem

RLC1 and RLC2  are the peer RLC entities.

RLC1 : tx window 4090 [0-4090) ,VT(S) = 4090

RLC2  : rx window 4090 [0-4090) 

only PDU 0 is not received yet at RLC2. (it need not be only 0 but 

some more can be added to the unreceived PU list, for simplicity assume only 0) 

RLC1 : vt(ms) = 4090 

1.
PU with SN 0 is retransmitted by RLC1 as a result of previous status PDU and a 

poll timer is started . 

2.
PU 0 is received correctly at RLC2. 

3.
RLC2 send Window SUFI to ask RLC1 to change window to 2050

which is received correctly at RLC1.

4.          RLC2 sends ACK with updated value of VR(R) which is lost. 

What actions should Tx at RLC1 take? 

If it changes window to 0-2000, should it update its VT(S) to a lesser value… This is not in agreement to the defination of VT(S).

Whe the poll timer expires,which PU should be transmitted? It is only permitted to send PU with SN 4089. But it cannot be transmitted as VT(S) > VT(MS)which could lead to deadlock. 

3. Conclusion 

Any case , the specification should be corrected to remove the inconsistency. If there are still problems because of the size of the window , maximum size of the window should be less than 2047.

